



Page 1 of 1

**Letting:** 01260115    **January 15, 2026 11:00 AM**    **Call Order:** 003    **Contract:** E1Y28-R0  
**District:** District 1    **Counties:** DIST/ST-WIDE,  
**Contract Time:** 365 CALENDAR DAYS    **HIGHLANDS**    **Fed Aid No:** N/A  
**Contract Desc:** Herbicide Application    **Project(s):** 43272617264 (\*)

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$25,201.00	100.00%
2	CWA ENVIRONMENTAL SERVICES LLC	Responsive	Non-Winning Bid	\$29,015.00	115.13%
3	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$39,900.00	158.33%
4	WATERS BROTHERS ENVIRONMENTAL I	Responsive	Non-Winning Bid	\$40,977.00	162.60%
5	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$42,980.00	170.55%
6	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$44,472.00	176.47%
7	ASAP EXTERMINATORS LLC	Responsive	Non-Winning Bid	\$49,300.00	195.63%
8	ALPHA-OMEGA TRAINING AND COMPLIANCE INC	Responsive	Non-Winning Bid	\$61,250.00	243.05%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



## Tabulation of Bids

Page 1 of 4

**Letting:** 01260115 January 15, 2026**Call Order:** 003**Contract:** E1Y28-R0**District:** District 1**Counties:** DIST/ST-WIDE,  
HIGHLANDS**Fed Aid No:** N/A**Contract Time:** 365 CALENDAR DAYS**Project(s):** 43272617264 (\*)**Contract Descr:** Herbicide Application

The work under this Contract consists of Herbicide Application

Line No / Item ID Item Description	Alternate	Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) CWA ENVIRONMENTAL SERVICES LLC		(3) HIGHER GROUND LAND SERVICES, LL	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (GA)</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		670.000 AC	35.00000	23,450.00	39.50000	26,465.00	50.00000	33,500.00
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		50.000 AC	35.00000	1,750.00	44.00000	2,200.00	48.00000	2,400.00
0015 E580337 11 HERBICIDE (MANUAL APPLICATION)		100.000 GA	0.01000	1.00	3.50000	350.00	40.00000	4,000.00
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (GA)</b>				<b>\$25,201.00</b>		<b>\$29,015.00</b>		<b>\$39,900.00</b>
<b>Contract Grand Totals:</b>				<b>\$25,201.00</b>		<b>\$29,015.00</b>		<b>39,900.00</b>



## Tabulation of Bids

Page 2 of 4

Letting: 01260115 January 15, 2026			Call Order: 003		Contract: E1Y28-R0			
Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) WATERS BROTHERS ENVIRONMENTAL I		(5) SUPREME ROOFING & CONSTRUCTION, INC.		(6) AIRBOAT ADDICTS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (GA)</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		670.000 AC	49.85000	33,399.50	59.00000	39,530.00	51.60000	34,572.00
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		50.000 AC	54.85000	2,742.50	59.00000	2,950.00	120.00000	6,000.00
0015 E580337 11 HERBICIDE (MANUAL APPLICATION)		100.000 GA	48.35000	4,835.00	5.00000	500.00	39.00000	3,900.00
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (GA)</b>				<b>\$40,977.00</b>		<b>\$42,980.00</b>		<b>\$44,472.00</b>
<b>Contract Grand Totals:</b>				<b>\$40,977.00</b>		<b>\$42,980.00</b>		<b>44,472.00</b>



## Tabulation of Bids

Page 3 of 4

**Letting:** 01260115 **January 15, 2026** **Call Order:** 003 **Contract:** E1Y28-R0

Line No / Item ID <b>Item Description</b> ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(7) ASAP EXTERMINATORS LLC	(8) ALPHA-OMEGA TRAINING AND COMPLIANCE INC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price

**SECTION: 0001 (CHEM WEED AND GRASS CONTROL (GA)**

0005	E580337 2	670.000	60.00000	40,200.00	75.00000	50,250.00	
HERBICIDE (STRIP APPLICATION)		AC					
0010	E580337 4	50.000	176.00000	8,800.00	100.00000	5,000.00	
HERBICIDE (STRIP APPLICATION)(AQUATIC)		AC					
0015	E580337 11	100.000	3.00000	300.00	60.00000	6,000.00	
HERBICIDE (MANUAL APPLICATION)		GA					
<b>0001 CHEM WEED AND GRASS Section Totals:</b>				<b>\$49,300.00</b>	<b>\$61,250.00</b>		

---

**Contract Grand Totals:****\$49,300.00****\$61,250.00**



**Tabulation of Bids**

Page 4 of 4

---

**Letting:** 01260115    **January 15, 2026**    **Call Order:** 003    **Contract:** E1Y28-R0

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*